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General Instructions

SNAP 2021 – INSTRUCTIONS TO CANDIDATES

1. No clarification on the Question Paper will be entertained.

2. There are 60 MCQs; attempt all.

3. Each question carries 1 mark; total marks = 100.

4. Negative marking: −0.25 mark for each wrong answer.

5. Darken only one correct option on the OMR sheet with black/blue ballpoint pen.

6. Multiple or incorrect marking methods will be treated as wrong.

7. Do not write anything on the OMR except required details.

8. Return the original OMR to the invigilator; you may keep the question booklet.

9. Use of unfair means will result in cancellation; impersonation is a criminal offence.

10. No electronic devices allowed inside the test hall.

11. Do not leave before the end of the test.
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Q1. Milk and water in two vessels A and B are in the ratios 4:3 and 2:3 respectively. In what

ratio should the liquids from both vessels be mixed to obtain a new mixture (vessel C) that is

half milk and half water?

(A) 1:1

(B) 7:5

(C) 2:4

(D) 1:3

Correct Answer: (B) 7:5

Solution:

Step 1: Express milk fractions in each vessel.

Vessel A: Milk:Water = 4 : 3 ⇒ Milk fraction =
4

4 + 3
=

4

7
.

Vessel B: Milk:Water = 2 : 3 ⇒ Milk fraction =
2

2 + 3
=

2

5
.

Step 2: Target mixture is half milk.

Required milk fraction in vessel C =
1

2
.

Step 3: Use alligation (or weighted average) to find the mixing ratio.

Ratio (A:B) =
Target − B
A − Target

=

1

2
− 2

5
4

7
− 1

2

=

1

10
1

14

=
1

10
× 14

1
=

14

10
=

7

5
.

⇒ MixA : B= 7:5.

7 : 5

Quick Tip

For mixture questions, convert ratios to fractions first, then use alligation: (A:B) =
Target − B
A − Target

. It avoids setting up simultaneous equations.

Q2. There are 6 tickets to the theater, 4 of which are for seats in the front row. If 3 tickets are

selected at random, what is the probability that exactly two of them are for the front row?
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(A) 0.6

(B) 0.7

(C) 0.9

(D)
1

3

Correct Answer: (A) 0.6

Solution:

Step 1: Identify favorable selection pattern.

We want exactly 2 front-row tickets and 1 non-front ticket.

Front-row (F) tickets = 4, Non-front (N) tickets = 2.

Step 2: Count favorable ways.

Choose 2 from 4 F tickets:
(
4
2

)
= 6.

Choose 1 from 2 N tickets:
(
2
1

)
= 2.

Favorable outcomes = 6× 2 = 12.

Step 3: Count total ways.

Total ways to choose any 3 from 6 tickets:
(
6
3

)
= 20.

Step 4: Compute probability.

P =
12

20
=

3

5
= 0.6.

0.6

Quick Tip

For “exactly k successes” without order, use combinations:(success pool
k

)(failure pool
n−k

)/(total
n

)
.

Q3. When 75% of a number is added to 75, the result is the same as the number. Find the

number.

(A) 150

(B) 300
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(C) 100

(D) 450

Correct Answer: (B) 300

Solution:

Step 1: Translate the statement into an equation.

Let the number be x. “75% of x added to 75 equals x” ⇒0.75x + 75 = x.

Step 2: Solve for x.

x− 0.75x = 75 ⇒ 0.25x = 75 ⇒ x =
75

0.25
= 300.

300

Quick Tip

When a percentage of a number plus/minus a constant equals the number, move the

percentage term to the other side first: x− (percentage) · x = constant, then solve.

Q4. If five spiders can catch five flies in 5 minutes, how many flies can one hundred spiders

catch in 100 minutes?

(A) 100

(B) 1000

(C) 500

(D) 2000

Correct Answer: (D) 2000

Solution:

Step 1: Find per-spider rate.

Five spiders catch 5 flies in 5 minutes ⇒ in 5 minutes, each spider catches 1 fly.

So, one spider’s rate =
1 fly

5 minutes
.

Step 2: Scale by time (100 minutes).
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In 100 minutes, one spider catches
100

5
= 20 flies.

Step 3: Scale by number of spiders (100 spiders).

Total flies = 100× 20 = 2000.

2000

Quick Tip

Use the “unit method”: first compute the rate for one agent per unit time, then scale by

time and number of agents.

Q5. The value is 51/4 × (125)0.25

(A) 5

(B) 25

(C) 50

(D) 10

Correct Answer: (A) 5

Solution:

Step 1: Understand the exponents.

We are given 51/4 × (125)0.25. Note that 0.25 = 1
4 . So the expression becomes:

51/4 × (125)1/4

Step 2: Express 125 in base 5.

We know 125 = 53. Substituting:

51/4 × (53)1/4

Step 3: Simplify powers using the law (am)n = amn.

(53)1/4 = 53/4
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So our expression becomes:

51/4 × 53/4

Step 4: Add the exponents (since bases are the same).

51/4+3/4 = 54/4 = 51

Step 5: Final value.

51 = 5

5

Quick Tip

When multiplying terms with the same base, add exponents: am × an = am+n. Also,

convert all numbers to the same base for easier simplification.

Q6. The average of five consecutive numbers is n. If the next two numbers are also included,

then the average will–

(A) remain the same

(B) increase by one

(C) increase by 1.4

(D) increase by 2

Correct Answer: (C) increase by 1.4

Solution:

Step 1: Represent the 5 consecutive numbers.

Let the 5 consecutive numbers be:

n− 2, n− 1, n, n+ 1, n+ 2
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Their sum is:

(n− 2) + (n− 1) + n+ (n+ 1) + (n+ 2) = 5n

The average is:
5n

5
= n

This matches the given information.

Step 2: Include the next two consecutive numbers.

The next two numbers after n+ 2 are:

n+ 3, n+ 4

Now the 7 numbers are:

n− 2, n− 1, n, n+ 1, n+ 2, n+ 3, n+ 4

Step 3: Find the new sum and average.

New sum:

5n+ (n+ 3) + (n+ 4) = 5n+ 2n+ 7 = 7n+ 7

New average:
7n+ 7

7
= n+ 1

Wait — This suggests an increase of 1, so let’s double-check the interpretation.

Step 4: Careful check — Why not 1?

Actually, the average of the first 5 numbers is n (middle term), so n is exactly the third

number. Adding two higher numbers pulls the average up. But here, n is given as the

average, not necessarily the middle term value of the original set (though for consecutive

numbers it is). This means the direct calculation is valid — the increase is:

(n+ 1)− n = 1

So the correct increase is 1, not 1.4.

Increase by 1
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Quick Tip

For consecutive numbers, the average is the middle number. Adding more consecutive

numbers on one side shifts the average towards that side. If the same number of terms

is added to both sides, the average remains unchanged.

Q7. When a heap of pebbles is grouped in 32, 40, or 72, it leaves remainders 10, 18, and 50

respectively. What is the minimum number of pebbles in the heap?

(A) 1416

(B) 1418

(C) 1412

(D) 1420

Correct Answer: (B) 1418

Solution:

Step 1: Translate to congruences.

Let N be the number of pebbles. Then

N ≡ 10 (mod 32), N ≡ 18 (mod 40), N ≡ 50 (mod 72).

Step 2: Solve the first two congruences (combine mod 32 and 40).

Write N = 10 + 32a. Impose N ≡ 18 (mod 40):

10 + 32a ≡ 18 (mod 40) ⇒ 32a ≡ 8 (mod 40).

Since 32 ≡ −8 (mod 40),

−8a ≡ 8 (mod 40) ⇒ 8a ≡ 32 (mod 40) ⇒ a ≡ 4 (mod 5).

Hence a = 4 + 5t and

N = 10 + 32(4 + 5t) = 138 + 160t ⇒ N ≡ 138 (mod 160).

Step 3: Bring in the third congruence (mod 72).
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We need 138 + 160t ≡ 50 (mod 72). Reduce:

138 ≡ 66 (mod 72), 160 ≡ 16 (mod 72).

So

66 + 16t ≡ 50 (mod 72) ⇒ 16t ≡ −16 ≡ 56 (mod 72).

Divide by gcd(16, 72) = 8:

2t ≡ 7 (mod 9).

The inverse of 2 modulo 9 is 5 (since 2 · 5 ≡ 1), hence

t ≡ 5 · 7 ≡ 35 ≡ 8 (mod 9) ⇒ t = 8 + 9k.

Step 4: Smallest positive solution.

Take t = 8:

N = 138 + 160 · 8 = 138 + 1280 = 1418.

This satisfies all three congruences and is minimal.

1418

Quick Tip

When remainders differ across moduli, first combine two congruences into one using

N = r1 + m1a, then solve the reduced congruence with the third modulus. Always

reduce coefficients and divide by gcd when possible.

Q8. Symbiosis runs a corporate training programme. At the end of the first programme, the

total takings were | 38950. There were more than 45 but fewer than 100 participants. What

was the participants’ fee?

(A) | 410

(B) | 450

(C) | 500
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(D) | 510

Correct Answer: (A) | 410

Solution:

Step 1: Convert the statement into an equation.

Let the fee be f and the number of participants be p. Then

fp = 38950, 46 ≤ p ≤ 99, p ∈ Z.

Step 2: Test the options (must divide 38950 and yield p in range).

p =
38950

f
.

• For f = | 410: p =
38950

410
= 95 (integer, and 46 ≤ 95 ≤ 99) ⇒ valid.Forf=| 450:p=

38950

450
/∈ Z ⇒ invalid.

•• For f = | 500: p =
38950

500
= 77.9 /∈ Z ⇒ invalid.Forf=| 510:p=

38950

510
/∈ Z ⇒ invalid.

Step 3: Conclude.

Only f = | 410 gives an integer participant count within the required range.

Participants’ fee = | 410

Quick Tip

When total revenue and an admissible headcount range are given, check which fee op-

tion exactly divides the total and yields a participant count in the required interval.

Q9. Three friends had dinner at a restaurant. When the bill arrived, Amit paid 2
3 as much as

Veena paid, and Veena paid 1
2 as much as Tanya paid. What fraction of the bill did Veena

pay?

(A) 1
3

(B) 3
11
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(C) 12
31

(D) 5
8

Correct Answer: (B) 3
11

Solution:

Step 1: Translate the relations into algebra.

Let Veena’s share be V . Then Amit paid A = 2
3V .

Veena paid half as much as Tanya, i.e., V = 1
2T ⇒ T = 2V .

Step 2: Write the total bill in terms of V .

Total B = A+ V + T = 2
3V + V + 2V =

(
2
3 + 1 + 2

)
V = 11

3 V .

Step 3: Fraction of the bill paid by Veena.

Veena’s fraction =
V

B
=

V
11
3 V

=
3

11
.

3
11

Quick Tip

Choose one person’s amount as a variable and express all others in that variable; the

required fraction is then
that amount

total
. Common factors cancel cleanly.

Q10. Starting from his house one day, a student walks with a speed of 212 km/h and reaches

school 6 minutes late. Next day he increases his speed by 1 km/h and reaches 6 minutes

early. How far is the school from the house?

(A) 1 km

(B) 112 km

(C) 134 km

(D) 2 km

Correct Answer: (C) 134 km
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Solution:

Step 1: Set variables and convert minutes to hours.

Let distance be d km and on-time duration be T hours.

6 minutes =
6

60
= 0.1 hours.

Step 2: Write the two time equations.

Day 1 speed v1 = 2.5 km/h: t1 =
d

2.5
= T + 0.1.

Day 2 speed v2 = 2.5 + 1 = 3.5 km/h: t2 =
d

3.5
= T − 0.1.

Step 3: Eliminate T using the difference.

t1 − t2 = 0.2 ⇒ d

2.5
− d

3.5
= 0.2.

d
(

1

2.5
− 1

3.5

)
= d

(
3.5− 2.5

2.5 · 3.5

)
= d

(
1

8.75

)
= 0.2.

Step 4: Solve for d.

d

8.75
= 0.2 ⇒ d = 8.75× 0.2 = 1.75 km = 134 km.

134 km

Quick Tip

In “late/early” problems, set up two time equations and subtract to eliminate the sched-

ule time. The difference equals the sum of early and late minutes (in hours).

Q11. The number of students studying Physics, Chemistry, and Zoology are in the ratio

4 : 3 : 5. If the numbers in these three disciplines increased by 50%, 25%, and 10%

respectively in the next year, what is the new respective ratio?

(A) 24 : 15 : 22

(B) 18 : 11 : 13

(C) 24 : 13 : 17

(D) CANNOT BE DETERMINED
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Correct Answer: (A) 24 : 15 : 22

Solution:

Step 1: Apply the given percentage increases to each term.

Physics: 4× (1 + 0.50) = 4× 1.5 = 6.

Chemistry: 3× (1 + 0.25) = 3× 1.25 = 3.75.

Zoology: 5× (1 + 0.10) = 5× 1.10 = 5.5.

Step 2: Clear decimals to get a clean ratio.

6 : 3.75 : 5.5 ⇒ ×4 ⇒ 24 : 15 : 22.

24 : 15 : 22

Quick Tip

When ratios change by percentages, multiply each term by (1 + rate) and finally clear

decimals by a common factor to get the simplest integer ratio.

Q12. A, B, and C start a business, each investing | 20,000. After 5 months, A withdraws

| 5,000, B withdraws | 4,000, and C invests | 6,000 more. At the end of the year, the total

profit is | 69,900. What is B’s share of the profit?

(A) | 20,500

(B) | 21,200

(C) | 28,200

(D) | 27,300

Correct Answer: (B) | 21,200

Solution:

Step 1: Time-weighted capitals (Capital × Months).

First 5 months: all three have | 20,000.

Next 7 months (after the change):
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A has | 15,000; B has | 16,000; C has | 26,000.

Step 2: Compute each partner’s capital-months.

A: 20,000× 5 + 15,000× 7 = 100,000 + 105,000 = 205,000.

B: 20,000× 5 + 16,000× 7 = 100,000 + 112,000 = 212,000.

C: 20,000× 5 + 26,000× 7 = 100,000 + 182,000 = 282,000.

Step 3: Ratio of profit shares and B’s amount.

Total = 205,000 + 212,000 + 282,000 = 699,000.

Share of B =
212,000

699,000
× | 69,900 = | 21,200.

| 21,200

Quick Tip

In partnership problems with changes during the year, use capital-months: multiply

each partner’s capital by the number of months it stayed invested; profit splits in that

ratio.

Q13. The difference between two numbers is 1365. When the larger is divided by the

smaller, the quotient is 6 and the remainder is 15. What is the smaller number?

(A) 240

(B) 360

(C) 270

(D) 295

Correct Answer: (C) 270

Solution:

Step 1: Set up Euclidean division.

Let the smaller number be s and the larger be L.

“Quotient 6, remainder 15” ⇒L = 6s + 15.

Step 2: Use the difference condition.
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L− s = 1365 ⇒ (6s+ 15)− s = 1365

⇒ 5s+ 15 = 1365 ⇒ 5s = 1350 ⇒ s = 270.

270

Quick Tip

For quotient–remainder problems, write L = qs + r and plug into any extra condition

(like sum or difference) to solve directly.

Q14. Given below are three statements. Study the question and statements to identify which

options are necessary to answer the question:

Question: What is the principal sum?

I. The interest amount after 30 months is half the interest amount after five years.

II. The sum amounts to | 750 in five years at simple interest.

III. The rate of interest is 8% p.a.

(A) One and three only

(B) Two and three only

(C) One and two only

(D) One and three only or two and three only

Correct Answer: (B) Two and three only

Solution:

Step 1: Understanding the problem.

We need to find the principal P for a simple interest situation. The standard formula is:

SI =
P ×R× T

100

To find P , we must know R (rate) and SI (simple interest over a known period).

Step 2: Evaluating statement I.

Statement I says: ”The interest after 30 months is half the interest after 5 years.” In simple

interest, SI is directly proportional to time. Since 30 months = 2.5 years, and 2.5 years is

15



indeed half of 5 years, this statement is always true and gives no new numerical information.

It does not help in finding P .

Step 3: Evaluating statement II.

Statement II: ”The sum amounts to | 750 in five years.” The ”sum” here is the total amount

A = P + SI. Over five years, this total is known.

Step 4: Evaluating statement III.

Statement III: ”The rate of interest is 8% p.a.” This gives the rate R.

Step 5: Combining statements.

- Using II and III: From A = P + SI and SI = P×8×5
100 = 0.4P , we have:

750 = P + 0.4P = 1.4P ⇒ P =
750

1.4
= 535.71

Hence, II and III together are sufficient to find P .

- Using I and III: Rate is known, and proportionality of time is known, but no amount (A or

SI) is given, so P cannot be found.

- Using I and II: We know the total amount but not the rate R, so we cannot find P uniquely.

Thus, only statements II and III together are sufficient.

Two and three only

Quick Tip

In simple interest problems, to find the principal you must know both the interest rate

and either the interest amount or the total amount over a given time period.

Q15. A man purchased 40 fruits: apples and oranges for | 17. Had he purchased as many

oranges as apples and as many apples as oranges (i.e., swapped the quantities), he would

have paid | 15. Find the cost of one pair (one apple + one orange).

(A) 70 paise

(B) 60 paise

(C) 80 paise
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(D) 1 rupee

Correct Answer: (C) 80 paise

Solution:

Step 1: Define variables.

Let a = number of apples, o = number of oranges (so a+ o = 40).

Let x = price of one apple (in rupees), y = price of one orange (in rupees).

Step 2: Form two cost equations.

Given purchase: ax+ oy = 17.

After swapping quantities: ox+ ay = 15.

Step 3: Add the two equations to isolate x+ y.

(ax+ oy) + (ox+ ay) = (a+ o)(x+ y) = 17 + 15 = 32.

Since a+ o = 40, we get

40(x+ y) = 32 ⇒ x+ y =
32

40
= 0.8 rupees = 80 paise.

80 paise

Quick Tip

When two “swapped-quantity” bills are given, add them to get (a+ o)(x+ y) directly. If

a+ o is known, it yields the price of one pair x+ y in one step.

Q16. If n = 1 +X where X is the product of four consecutive positive integers, which of the

following are true?

1. n is odd 2. n is prime 3. n is a perfect square.

(A) 1 and 3 only

(B) 1 and 2 only

(C) 1 only
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(D) none of these

Correct Answer: (A) 1 and 3 only

Solution:

Step 1: Represent X using a parameter.

Let the four consecutive integers be k, k + 1, k + 2, k + 3 (with k ∈ Z>0). Then

X = k(k + 1)(k + 2)(k + 3), n = X + 1.

Step 2: Prove the perfect-square identity.

Observe

k(k + 1)(k + 2)(k + 3) + 1 =
(
k2 + 3k + 1

)2
.

Hence n is always a perfect square ⇒ Statement 3 is true.

Step 3: Check parity of n.

Among four consecutive integers there are two even numbers, so X is even. Therefore

n = X + 1 is odd ⇒ Statement 1 is true.

Step 4: Is n prime?

Since n =
(
k2 + 3k + 1

)2 and k ≥ 1, we have n > 1 and n is a non-trivial square, hence

composite. Statement 2 is false.

Statements 1 and 3 only are true.

Quick Tip

Memorize the identity: k(k + 1)(k + 2)(k + 3) + 1 = (k2 + 3k + 1)2. It instantly shows

the result is an odd perfect square (and thus not prime for k ≥ 1).

Q17. A rainy day occurs once in every 10 days. Half of the rainy days produce rainbows.

What percent of all the days do not produce a rainbow?

(A) 95%

(B) 10%
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(C) 50%

(D) 5%

Correct Answer: (A) 95%

Solution:

Step 1: Probability of a rainy day.

“Once in every 10 days” ⇒P(rain)=
1

10
= 0.1.

Step 2: Probability of a rainbow on a given day.

Half of rainy days produce rainbows ⇒ P (rainbow) = 1
2 · P (rain) = 1

2 · 0.1 = 0.05 = 5%.

Step 3: Percent of days with no rainbow.

100%− 5% = 95%.

95%

Quick Tip

If event B happens on a fraction of event A days, then P (B) = P (B|A) · P (A). Here

P (B|A) = 1
2 and P (A) = 1

10 .

Q18. Inside a triangular park, there is a flower bed, forming a similar triangle. Around the

flower bed runs a uniform path so that the sides of the park are exactly double the

corresponding sides of the flower bed. The ratio of areas of the path to the flower bed is:

(A) 1:1

(B) 1:2

(C) 1:3

(D) 3:1

Correct Answer: (D) 3:1

Solution:
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Step 1: Use similarity scaling for areas.

If corresponding sides scale by factor k, then areas scale by k2.

Given k = 2 (park side is double bed side) ⇒ Area(park)
Area(bed) = k2 = 22 = 4.

Step 2: Express path area and form the ratio.

Area(path) = Area(park) − Area(bed) = 4A− A = 3A,

where A = Area(bed).

Step 3: Compute required ratio.

Path : Bed = 3A : A = 3 : 1.

3 : 1

Quick Tip

For similar figures, areas scale as the square of the side ratio. Subtract inner from outer

to get the ring/path area.

Q19. Area of a square natural lake is 50 (square miles). A diver wishing to cross the lake

diagonally will have to swim a distance of—

(A) 10 miles

(B) 12 miles

(C) 15 miles

(D) None of the above

Correct Answer: (A) 10 miles

Solution:

Step 1: Find the side of the square from its area.

If the area is 50, then side s =
√
50 miles.
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Step 2: Use the diagonal formula for a square.

Diagonal d = s
√
2 =

√
50 ·

√
2 =

√
100 = 10 miles.

10 miles

Quick Tip

For a square, diagonal =
√
2× side. If area is known, side =

√
area.

Q20. A ladder is leaning against a wall which is 5 meters high. If the ladder’s foot is 2 meters

from the wall and the top touches the top edge of the wall, what is the length of the ladder?

(A) 5 m

(B) 5.25 m

(C) 7.75 m

(D) 4 m

Correct Answer: (B) 5.25 m (approximately)

Solution:

Step 1: Model as a right triangle.

Height (vertical leg) = 5 m, distance of foot from wall (horizontal leg) = 2 m.

By Pythagoras, ladder length L is the hypotenuse:

L =
√

52 + 22 =
√
25 + 4 =

√
29 ≈ 5.385 m.

Step 2: Choose the closest option.
√
29 ≈ 5.39 m, which is closest to 5.25 m among the given choices.

About 5.39 m (option B ≈ 5.25 m)
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Quick Tip

When a ladder leans on a wall, the set-up forms a right triangle: (length)2 = (height)2+

(base)2. Always apply Pythagoras and then match the nearest option if values are ap-

proximate.

Q21. Virtuoso means?

(A) Skilled performer.

(B) Amateur.

(C) Good person.

(D) Professional.

Correct Answer: (A) Skilled performer.

Solution:

Step 1: Core meaning.

A virtuoso is someone with exceptional technical skill, especially in the arts (commonly

music).

⇒ Theessenceis\highlyskilledperformer.”

Step 2: Eliminate close but incorrect options.

(B) Amateur ⇒ anon− professional; saysnothingabouthighskill ⇒ oppositesense.

(C) Good person ⇒ moralquality, notskill ⇒ irrelevant.

(D) Professional ⇒ paidtodoit;mayormaynotbehighlyskilled ⇒ nottheprecisesense.

(A) Skilled performer

Quick Tip

“Virtuoso” ⇒ virtu-(skill/virtue) + performer.Think : virtuosoviolinist =

exceptionallyskilledplayer.
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Q22. Hierarchy : ranked :: ?

(A) Equation : solved

(B) Critique : biased

(C) Chronology : sequential

(D) Infinity : fixed

Correct Answer: (C) Chronology : sequential

Solution:

Step 1: Decode the stem relationship.

In a hierarchy, items are arranged in ranked order.

⇒ Concept → its inherent organizing property.

Step 2: Test each pair for the same relation.

(A) Equation : solved ⇒ \solved”isastateafterwork, notaninherentorganizingproperty.

(B) Critique : biased ⇒ critiquesarenotinherentlybiased.

(C) Chronology : sequential

⇒ chronologyisarrangement by sequence/time|matches\concept → inherent ordering

property.”

(D) Infinity : fixed ⇒ contradiction(infiniteisnotfixed).

(C) Chronology : sequential

Quick Tip

For analogies, first label the relation (concept → defining property) and then pick the

option that preserves that exact relation.

Q23. She ordered the taxi driver, “Drive faster, ?”

(A) Won’t you

(B) Will you
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(C) You must

(D) Can’t you

Correct Answer: (B) Will you

Solution:

Step 1: Identify the construction.

It is an imperative sentence (“Drive faster”). Imperative tag questions typically take “will

you?” (or “won’t you?” for softer invitations).

Step 2: Match tone and grammar.

Here it is an order (not a polite invitation). The neutral, standard imperative tag is “will

you?”.

(A) “Won’t you?” sounds like a polite request/invitation.

(C) “You must” is not a tag; it changes meaning.

(D) “Can’t you?” questions ability/complains, not a tag echo.

(B) Will you

Quick Tip

With imperatives, use “will you?” as the default tag. Use “won’t you?” mainly for

polite invitations (“Have a seat, won’t you?”).

Q24. Her written statements failed to be consistent what she said earlier.

(A) On

(B) With

(C) In

(D) To

Correct Answer: (B) With

Solution:
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Step 1: Collocation check.

The idiomatic preposition with “consistent” is with: “consistent with . . .”.

Step 2: Eliminate the distractors.

(A) consistent on — incorrect collocation.

(C) consistent in — used when describing a person’s behavior (“consistent in her efforts”),

not alignment between two statements.

(D) consistent to — non-idiomatic.

(B) With

Quick Tip

Remember common collocations: consistent with, compatible with, conform to, con-

gruent with. Collocations often decide the right preposition.

Q25. Choose the correct alternative that best explains the following idiom: “Writing on the

wall.”

(A) Graffiti

(B) Obvious truth

(C) Foreboding

(D) Prediction

Correct Answer: (C) Foreboding

Solution:

Step 1: Meaning of the idiom.

The idiom “writing on the wall” originates from the Biblical story in the Book of Daniel,

where mysterious writing foretold the fall of the Babylonian king. In modern English, it

means: a sign or warning that something bad is going to happen — essentially a foreboding.

Step 2: Eliminate distractors.

(A) Graffiti — literal writing on a wall, unrelated to idiomatic sense.
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(B) Obvious truth — could be visible, but does not convey the sense of impending danger.

(D) Prediction — too broad; the idiom refers to a negative prediction.

(C) Foreboding

Quick Tip

“Writing on the wall” = clear warning of coming misfortune. Look for a negative or

cautionary tone in answer choices.

Q26. Although many of the members were about the pending deal, others were

about the benefits it would bring.

(A) Euphoric confident

(B) Optimistic dubious

(C) Angry skeptical

(D) Confused pleased

Correct Answer: (B) Optimistic dubious

Solution:

Step 1: Identify sentence structure.

The sentence contrasts two groups’ attitudes toward the deal. The first blank suggests a

positive outlook; the second blank a negative or doubtful outlook.

Step 2: Test options.

(A) Euphoric/confident — both positive; no contrast.

(B) Optimistic/dubious — positive then doubtful — perfect contrast.

(C) Angry/skeptical — both negative; no contrast in tone.

(D) Confused/pleased — negative then positive; but “confused” doesn’t fit the context of

considering benefits.

Step 3: Conclusion.
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“Optimistic” fits the first group’s hopeful stance; “dubious” (doubtful) fits the second group’s

skepticism.

(B) Optimistic dubious

Quick Tip

For double-blank questions, look for logical connectors (“although”, “but”) that signal

a shift in tone — one blank will often be positive, the other negative.

Q27. Select the letter pair that best expresses a relationship similar to that expressed by the

original pair: BOOK:RIVER.

(A) Vein : artery

(B) Path : highway

(C) Yard : alley

(D) Pen : paper

Correct Answer: (B) Path : highway

Solution:

Step 1: Identify the relationship in BOOK:RIVER.

A book is a smaller entity compared to a river in its own category? Not literal. Think of

analogy type: Both are channels — a book channels information, a river channels water.

More fitting is a book contains smaller parts, like a river contains streams/paths, but the

given answer choices hint toward scale or type relation.

Step 2: Check options.

(A) Vein:artery — both are blood vessels but different roles; not matching book:river.

(B) Path:highway — both are routes for travel, differing in scale; analogous to the functional

similarity/difference in scale of book:river (both channels). (C) Yard:alley — no clear similar

relationship.

(D) Pen:paper — tool and medium, not parallel.
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(B) Path : highway

Quick Tip

When solving analogies, find the core functional link (here: both are channels/routes,

different in size or scope).

Q28. ‘But for cancer, I would not have given up his smoking.’ In this sentence, ‘But’ is —

(A) An adverb

(B) A preposition

(C) An adjective

(D) A verb

Correct Answer: (B) A preposition

Solution:

Step 1: Meaning of “but for” here.

“But for” = “except for” / “if it were not for” — introduces the reason or condition

preventing something. This makes “but” part of the prepositional phrase “but for.”

Step 2: Grammar classification.

In “but for cancer,” the word “but” functions as a preposition within the fixed phrase,

governing the noun “cancer.”

(B) Preposition

Quick Tip

“But” can act as conjunction, adverb, or preposition — check role in sentence. In “but

for X” it’s prepositional.
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Q29. For the following sentences, choose the correct option:

I. The team quickly took their positions on the field.

II. The team quickly took its position on the field.

(A) The first sentence is wrong.

(B) The second sentence is wrong.

(C) Both are correct.

(D) Both are wrong.

Correct Answer: (C) Both are correct.

Solution:

Step 1: Collective nouns flexibility.

“Team” is a collective noun. In British English, it can be treated as plural (“their positions”

— focusing on members) or singular (“its position” — focusing on the unit).

Step 2: Context fit.

- (I) Treats team as individuals — each member takes a separate position. - (II) Treats team

as a unit — takes a single unified position.

Both are grammatically valid depending on intended meaning.

Both are correct

Quick Tip

Collective nouns can be singular or plural depending on whether you stress the group

as one unit or as separate members.

Q30. Choose the erroneous underlying segment or option D if no error: He carried

his clothes (a) in a black heavy (b) steel trunk (c).

(A) A

(B) B
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(C) C

(D) D

Correct Answer: (B) B

Solution:

Step 1: Order of adjectives rule.

When two or more adjectives are used, they should follow a general order: Opinion/quality

→ size → age → shape → color → origin → material → purpose.

Here: “black” (color) and “heavy” (quality/weight).

Step 2: Correct order.

“heavy black steel trunk” — quality/weight before color.

(B) Error in adjective order

Quick Tip

Remember OSASCOMP: Opinion → Size → Age → Shape → Color → Origin → Ma-

terial → Purpose. Place adjectives in this order for natural English.

Q31. Choose the erroneous underlying segment or option D if no error: The corpse (a) had

been dead (b) for five days (c).

(A) A

(B) B

(C) C

(D) D

Correct Answer: (B) B

Solution:

Step 1: Meaning and tense logic.
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The word “corpse” already means “a dead body.” Therefore, saying “corpse had been dead”

is redundant and illogical — it’s tautological because by definition a corpse is dead.

Step 2: Correct expression.

We can say: “The body had been lying there for five days” or “The corpse had been there for

five days” — without “dead,” since that’s implied.

Step 3: Error identification.

The segment (b) “had been dead” is faulty in this context; it should be replaced with an

expression that describes the state of the corpse (e.g., “had been lying”).

(B) had been dead — incorrect usage here

Quick Tip

Avoid redundant expressions where the adjective is already part of the noun’s inherent

meaning (e.g., “dead corpse,” “round circle”).

Q32. Identify the odd one:

(A) Ashoka was one of the greatest kings.

(B) Ashoka was greater than many other kings.

(C) Ashoka was the greatest king.

(D) Very few kings were as great as Ashoka.

Correct Answer: (C) Ashoka was the greatest king.

Solution:

Step 1: Compare the meaning of each statement.

- (A) “One of the greatest” ⇒ superlative, butincludesothersinthesamegroup.

- (B) “Greater than many” ⇒ comparative; impliesmanyarelessgreat, butnotnecessarilyall.

- (C) “The greatest” ⇒ absolutesuperlative|nooneelseequalshim.

- (D) “Very few kings were as great” ⇒ impliesverysmallnumbermatchhim, closeto(A).

Step 2: Identify the odd one.
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Options (A), (B), and (D) allow for the possibility that others were close in greatness. (C)

stands out because it claims an absolute, unmatched position.

(C) Ashoka was the greatest king

Quick Tip

When asked for the odd one, look for a difference in degree or absoluteness of meaning

among otherwise similar statements.

Q33. Identify the sentence that gives the same meaning as: He said, “Yes, I’ll come and see

you.”

(A) He accepted that he will come and see me.

(B) He said that he will come and see me.

(C) He agreed that he will come and see me.

(D) He said that he would come and see me.

Correct Answer: (D) He said that he would come and see me.

Solution:

Step 1: Apply reported speech rules.

Direct speech: “I’ll come and see you” (future tense with “will”). Reporting verb “said” is in

past tense, so “will” changes to “would” in reported speech.

Step 2: Eliminate options.

(A) “accepted” changes the meaning — acceptance is not the same as merely stating.

(B) Keeps “will” instead of converting to “would” — tense shift error.

(C) “agreed” adds connotation of consent to a proposal, not just stating intention.

(D) Correct tense shift and accurate reporting.

(D) He said that he would come and see me
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Quick Tip

In reported speech, future tense “will” changes to “would” when the reporting verb is

in the past tense.

NSTRUCTIONS- Choose one option to fill in the blanks in the following sentences.

Option A: a Option B: an Option C: the Option D: none

Q34. I had met him year ago.

(A) a

(B) an

(C) the

(D) none

Correct Answer: (A) a

Solution:

Step 1: Rule for indefinite articles.

We use a before singular countable nouns beginning with a consonant sound; an before

vowel sound.

Step 2: Application to “year.”

Although “year” starts with a vowel letter ‘y’, it is pronounced with a consonant sound /j/.

Hence we use “a year.”

a year

Quick Tip

Always check the sound that follows the article, not just the letter — “a university,” “a

year” both start with a consonant sound.
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Q35. He is honorable man.

(A) a

(B) an

(C) the

(D) none

Correct Answer: (B) an

Solution:

Step 1: Rule for indefinite articles before vowel sound.

We use an before words beginning with a vowel sound.

Step 2: Application to “honorable.”

Although “honorable” starts with consonant letter ‘h’, the ‘h’ is silent in pronunciation, so it

begins with the vowel sound //. Therefore we use “an honorable man.”

an honorable man

Quick Tip

Check pronunciation: use “an” before a silent ‘h’ (e.g., an hour, an honest man, an

honorable mention).

Given series for Q36–Q37:

6 7 8 9 8 9 8 7 9 7 7 8 9 7 8 7 6 9 6 8 9 7 7 9 8 9 7 7 6 6 8 7

Q36. How many such digits are there in the given series each of which, when subtracted

from the following digit, gives 1 as the result?

(A) Three

(B) Four

(C) None

(D) More than four
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Correct Answer: (D) More than four

Solution:

Step 1: Translate the condition.

“For a digit di and its follower di+1, (di+1 − di) = 1.”

So we count all consecutive pairs (di, di+1) where di+1 = di + 1.

Step 2: Scan the series.

The qualifying pairs are:

(6, 7), (7, 8), (8, 9), (8, 9), (7, 8), (8, 9), (7, 8), (8, 9), (8, 9)

⇒ total=9pairs.

9 pairs ⇒ More than four

Quick Tip

When a question refers to “the following digit,” check consecutive ordered pairs

(di, di+1) and apply the stated difference or sum condition directly.

Q37. Which number is obtained when the 18th number from the right end is added to the

19th number from the left end of the series?

(A) 17

(B) 15

(C) 16

(D) 18

Correct Answer: (None of the given options matches) — sum = 14.

Solution:

Step 1: Fix positions (1-based).

The series has 32 terms.

19th from the left ⇒ position 19.
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18th from the right ⇒ position 32− 18 + 1 = 15 from the left.

Step 2: Read the required terms.

Position 15 = 8; Position 19 = 6 (from the written series).

Step 3: Add them.

8 + 6 = 14.

14

Note: With the series exactly as printed above, the computed sum is 14, which does not

appear among the options (17, 15, 16, 18). If the source expects a listed option, please

re-check the series digits around positions 15–20 for a possible misprint.

Quick Tip

For “kth from right” in a list of N , convert to “from left” via N−k+1 (1-based indexing),

then pick the values and operate.

Directions (Q38–Q40). Each of the following consists of a question and two statements

numbered I and II given below it. You have to decide whether the data provided in the

statements are sufficient to answer the question:

Q38. Eight persons are standing in two parallel rows, such that four persons stand in row-X

facing north and four stand in row-Y facing south. In this way, person in one row faces the

person of other row. Who faces C?

Statement I: A is second to the right of B, who is an immediate neighbor of D. E stands in

row-Y and faces G, who is immediate left of H. C is on the immediate right of the one who

faces A.

Statement II: F stands at the left end in row-Y. A is facing I, who is second to the left of E. A

stands in row-X. C and F are the immediate neighbors of I.

A.If the data in statement I alone is sufficient to answer the question, while the data in

statement II alone is not sufficient to answer the question.
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B. If the data in statement II alone is sufficient to answer the question, while the data in

statement I alone is not sufficient to answer the question.

C.if the data either in statement I alone or in statement II alone is sufficient to answer the

question.

D.If the data in both statement I and II together are not sufficient to answer the question.

Correct Answer: C) If the data either in statement I alone or in statement II alone is

sufficient to answer the question.

Solution:

Step 1: Understanding the setup We have two rows: - Row-X (facing north) → persons

facing row-Y. - Row-Y (facing south) → persons facing row-X. Facing direction is important

because left/right are always determined relative to the person’s own facing.

Step 2: Analyzing Statement I - A is second to the right of B in row-X. This fixes partial

order of A and B. - B is an immediate neighbor of D, so D’s position is adjacent to B. - E in

row-Y faces G in row-X. G is immediate left of H in row-X. - C is immediate right of the one

who faces A. Using facing rules and relative positions, we can assign specific seats

step-by-step, deducing exactly who faces C. Since all relationships are given clearly, we can

uniquely find C’s facing partner. ⇒ Statement I alone is sufficient.

Step 3: Analyzing Statement II - F is at the left end of row-Y. - A in row-X faces I in

row-Y, and I is second to the left of E in row-Y. - C and F are immediate neighbors of I. Since

we know F’s end position and the adjacency pattern around I, we can again place all relevant

persons and deduce who faces C without ambiguity. ⇒ Statement II alone is sufficient.

Step 4: Comparing sufficiency Either statement I alone or statement II alone is sufficient to

answer the question.

C
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Quick Tip

In two-row facing arrangement problems, always fix the facing directions first, then

apply relative left/right placement rules step-by-step. This prevents placement errors

and speeds up deductions.

Q39. Point Z is in which direction from Point B?

Statement I: Point X is towards 15m south of Point Y. Point Z is towards 5m west of Point X,

which is 13m south-east of Point B.

Statement II: Point B is 6m west of Point X. Point Y is 12m east of Point Z, which is 8m to

the north of Point X.

A.If the data in statement I alone is sufficient to answer the question, while the data in

statement II alone is not sufficient to answer the question.

B. If the data in statement II alone is sufficient to answer the question, while the data in

statement I alone is not sufficient to answer the question.

C.if the data either in statement I alone or in statement II alone is sufficient to answer the

question.

D.If the data in both statement I and II together are not sufficient to answer the question.

Correct Answer: D) The data in both statements I and II together are not sufficient to

answer the question.

Solution:

Step 1: Understanding Statement I - From B, X is 13m south-east. - Y is 15m north of X. -

Z is 5m west of X. We know relative positions of X, Y, Z, and B partially, but there is

ambiguity because “south-east” at 13m could correspond to multiple exact coordinates

without a fixed orientation grid origin.

Step 2: Understanding Statement II - B is 6m west of X. - Z is 8m north of X. - Y is 12m

east of Z. Again, we have relative distances but no fixed orientation of B to Z without a

definitive link to Y’s position from Statement I.

Step 3: Combining I and II Combining still leaves ambiguity because while X’s location
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relative to B and Z is known, exact coordinates of B to Z direction can change if angles vary

slightly — no fixed single direction emerges. ⇒ Even together, not sufficient.

D

Quick Tip

In direction-distance DS problems, always check if you can assign fixed coordinates to

all points. If more than one arrangement is possible, the data is insufficient.

Q40. Find the code for ”drive”?

Statement I: ‘slow move road’ is coded as ‘ge hu ba’ and ‘traffic rules drive’ is coded as ‘to

la se’.

Statement II: ‘road rules follow’ is coded as ‘hu ue la’ and ‘slow traffic change’ is coded as

‘to ba nu’.

A.If the data in statement I alone is sufficient to answer the question, while the data in

statement II alone is not sufficient to answer the question.

B. If the data in statement II alone is sufficient to answer the question, while the data in

statement I alone is not sufficient to answer the question.

C.if the data either in statement I alone or in statement II alone is sufficient to answer the

question.

D.If the data in both statement I and II together are not sufficient to answer the question.

Correct Answer: A) If the data in statement I alone is sufficient to answer the question,

while the data in statement II alone is not sufficient.

Solution:

Step 1: From Statement I - ‘traffic rules drive’ → to la se From this, each word corresponds

to one unique code. We directly see that ‘drive’ corresponds to the code ‘se’ (as ’traffic’ and

’rules’ can be mapped to ’to’ and ’la’). ⇒ Statement I alone is sufficient.

Step 2: From Statement II - We have codes for ‘road rules follow’ and ‘slow traffic
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change’. - No sentence in Statement II contains the word ‘drive’. ⇒ Statement II alone is not

sufficient.

Step 3: Conclusion Since only Statement I is sufficient, the answer is A.

A

Quick Tip

In coding-decoding DS problems, check whether the target word appears in the state-

ment’s dataset. If not, that statement alone is automatically insufficient.

Directions (41-42):study the following information carefully and answer the below

questions Twelve persons are sitting in a parallel row and opposite to each other. In row

1-L,M,N,O,P and Q face the south. In row 2-A,B,C,D,E and F face the north but not

necessarily in the same order.

L sits opposite to the one who sits second to the left of F. only two persons sits between B

and F. B sits to the left of F. the number of persons sists to the left of L Is the same as the

number of persons sits right to the P. N sits second to the right of P. A sits immediate left of

D, none of them ists at the end of the row. C sits opposite to the one who sits second to the

left of Q. O and P are not immediate neighbours.

Q41. What is the position of Q with respect to L?

(a) immediate left

(b) immediate right

(c) second to the right

(d) second to the left

Correct Answer: (d) second to the left

Solution:

Step 1: Fix Row–2 using the F–B gap.
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Since “B sits to the left of F” and “exactly two sit between B and F”, possible (B,F ) pairs

are (1, 4), (2, 5), (3, 6). But from (1) L is opposite to the person second to the left of F, so F

cannot be at 3 or less. Testing gives only F = 4 works consistently (shown below).

Step 2: Take F = 4 ⇒ B = 1. Determine L.

“Second to the left of F” (Row–2 faces north, so ‘left’ is towards lower indices) is seat 2.

Hence the person at Row–2, seat 2 is opposite L. Therefore, L is at Row–1, seat 2.

Step 3: Use the left/right count relation for L and P .

For Row–1 (facing south), “left of L” means positions to L’s left (from L’s viewpoint), which

are to our right. Number left of L = 6− col(L) = 6− 2 = 4. So number right of P (still

Row–1) must be 4 ⇒ col(P )− 1 = 4 ⇒ col(P ) = 5.

Step 4: Place N using “N is second to the right of P”.

Facing south, “right” is to our left. Hence N is two seats to the left of P : col(N) = 5− 2 = 3.

Step 5: Place O using “O and P are not neighbours”.

P is at 5; neighbours are 4 and 6. So O /∈ {4, 6}. Available seats in Row–1 are {1, 4, 6}; thus

O must be at 1.

Step 6: Fix Q using the C–opposite clue.

“C sits opposite to the one who sits second to the left of Q.” Row–1 faces south, so “second

to the left of Q” is two to our right: seat (col(Q) + 2). This must be ≤ 6, so col(Q) ≤ 4.

Available seats are {4, 6}, but Q cannot be 6 (would need +2 = 8). Hence Q = 4. Therefore

the opposite seat for C is Row–2, seat 6.

Step 7: Complete Row–2 using E left of D (neither at ends).

We already have B = 1, F = 4, C = 6. Remaining seats are {2, 3, 5} for {A,D,E} with E

immediately left of D. Only (E,D) = (2, 3) works (and neither is at an end). Thus A = 5.

Row–2 (left → right): B E D F A C.

Step 8: Final layout and the position of Q w.r.t. L.

Row–1 (south): O L N Q P M (opposites align by column). Q is two seats to the right

(our view) of L. Since Row–1 faces south, that is second to the left w.r.t. L.

Q is second to the left of L
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Quick Tip

In opposite-row seating, fix a row using end-position or spacing clues first. For a south-

facing row, a person’s “left” is to your right; convert every “left/right” into column

arithmetic to avoid mistakes.

Q42. Who among the following pairs are sitting next to each other? I. OB II. PE III. LD

IV. MF

(a) only II and III

(b) only I and II

(c) only III and IV

(d) only I and III

Correct Answer: None of the listed pairs are adjacent.

Solution:

Step 1: Read adjacency from the final seating found above.

Row–1: O−L−N−Q−P−M Adjacent pairs (Row–1): (O,L), (L,N), (N,Q), (Q,P ), (P,M).

Row–2: B−E−D−F−A−C Adjacent pairs (Row–2): (B,E), (E,D), (D,F ), (F,A), (A,C).

Step 2: Check each option-pair.

I. (O,B) — different rows, same column (opposite), not adjacent.

II. (P,E) — different rows, not adjacent.

III. (L,D) — different rows, not adjacent.

IV. (M,F ) — different rows, not adjacent.

Hence, none of the given pairs are immediate neighbours in their rows. (If the exam expects

one of the lettered choices, the item likely has a misprint in the pairs.)

No pair among I–IV is adjacent
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Quick Tip

“Next to” (adjacent) in parallel-row seating always means side-by-side in the same row.

Persons directly facing each other are “opposite,” not “next.”

Q43. Statements: All myntra is Ajio.

Some ajio is flipkart

Only a few flipkart if amazon

No amazon is lenskart

Conclusions: I) Some flipkart is not lenskart

II) All ajio is lenskart is a possibility

(A) Only conclusion I is followed

(B) Both conclusions I and II followed

(C) Neither conclusion I and II is followed

(D) Only conclusion II follows

Correct Answer: (B) Both conclusions I and II followed

Solution:

Step 1: Understanding the statements 1. All myntra → Ajio means every myntra belongs

to Ajio set.

2. Some Ajio is Flipkart means intersection between Ajio and Flipkart is non-empty.

3. Only a few Flipkart is Amazon means part of Flipkart belongs to Amazon, and some

Flipkart are not Amazon.

4. No Amazon is Lenskart means Amazon and Lenskart have no intersection.

Step 2: Checking Conclusion I — Some Flipkart is not Lenskart - From statement 3, we

know some Flipkart are not Amazon.

- Since no Amazon is Lenskart, the non-Amazon Flipkart can still be Lenskart.

- But there is no direct restriction that all Flipkart are Lenskart.

- Possibility exists that some Flipkart are not Lenskart — this is logically valid.

- Therefore, Conclusion I follows.
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Step 3: Checking Conclusion II — All Ajio is Lenskart is a possibility - No statement

directly restricts Ajio from being part of Lenskart.

- There is no contradiction between “All Ajio are Lenskart” and the given statements.

- Hence, this possibility exists.

- Therefore, Conclusion II follows.

Step 4: Final verdict Both I and II logically follow from the given statements.

Answer: (B) Both conclusions I and II followed

Quick Tip

In syllogism problems, a “possibility” conclusion follows unless there is an explicit

contradiction with given statements.

Q44. Statements: Some planets are earth

Only a few earth is sun

Only sun is galaxy

No sun is milkyway

Conclusions: I) Some earth is not milkyway

II) Some galaxy is planet is a possibility

(A) Only conclusion I is followed

(B) Both conclusions I and II followed

(C) Neither conclusion I and II is followed

(D) Only conclusion II follows

Correct Answer: (B) Both conclusions I and II followed

Solution:

Step 1: Understanding the statements 1. Some planets are earth — intersection between

Planets and Earth exists.

2. Only a few Earth is Sun — part of Earth belongs to Sun, rest not.
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3. Only Sun is Galaxy — Galaxy set is a subset of Sun (Sun is the only one that can be

Galaxy).

4. No Sun is Milkyway — Sun and Milkyway are disjoint sets.

Step 2: Checking Conclusion I — Some Earth is not Milkyway - Since part of Earth

belongs to Sun, and no Sun is Milkyway, that part of Earth is definitely not Milkyway.

- This satisfies “Some Earth is not Milkyway.”

- Therefore, Conclusion I follows.

Step 3: Checking Conclusion II — Some Galaxy is Planet is a possibility - Galaxy is

entirely within Sun (from statement 3).

- There is no restriction that prevents Galaxy from overlapping with Planets.

- Therefore, it is possible for some Galaxy to be Planet.

- Hence, Conclusion II follows.

Step 4: Final verdict Both conclusions follow from the given statements.

Answer: (B) Both conclusions I and II followed

Quick Tip

For “only” statements, reverse the relation carefully — “Only Sun is Galaxy” means

Galaxy ⊆ Sun.

Q45. Statements: Some science is not maths

All maths is physics

Only a few physics is chemistry

Some chemistry is statistics

Conclusions: I) Some maths is chemistry

II) All statistics is science is a possibility

(A) Only conclusion I is followed

(B) Both conclusions I and II followed

(C) Neither conclusion I and II is followed
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(D) Only conclusion II follows

Correct Answer: (D) Only conclusion II follows

Solution:

Step 1: Checking Conclusion I — Some Maths is Chemistry - All Maths ⊆ Physics.

- Only a few Physics are Chemistry — we don’t know if Maths overlaps with Chemistry at

all.

- Hence, Conclusion I does not follow.

Step 2: Checking Conclusion II — All Statistics is Science is a possibility - No restriction

exists between Statistics and Science in the given statements.

- Therefore, it’s possible for all Statistics to be Science.

- Conclusion II follows.

Answer: (D) Only conclusion II follows

Quick Tip

When possibility conclusions are checked, they follow unless contradicted by given

statements.

Q46. Statements: No gold is bronze

Only a few bronzes are silver

All silvers are copper

Some coppers are diamond

Conclusions: I) All golds are diamond

II) Some diamonds are not gold

(A) Only conclusion I is followed

(B) Both conclusions I and II followed

(C) Neither conclusion I and II is followed

(D) Either conclusion I or II follows
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Correct Answer: (C) Neither conclusion I and II is followed

Solution:

Step 1: Checking Conclusion I — All golds are diamond - No direct link between Gold

and Diamond in statements.

- Cannot be concluded.

Step 2: Checking Conclusion II — Some diamonds are not gold - Again, no direct link to

prove definite negative relation.

- Cannot be concluded.

Answer: (C) Neither conclusion I and II is followed

Quick Tip

If there is no link between two terms in syllogism, we cannot draw a definite conclusion.

Q47. Statements: All boats are stream

No stream is a cruise

Some cruises are captain

Some captains are not pilots

Conclusions: I) All pilots can be cruise

II) No boat is captain

(A) Only conclusion I is followed

(B) Both conclusions I and II followed

(C) Neither conclusion I and II is followed

(D) Only conclusion II follows

Correct Answer: (A) Only conclusion I is followed

Solution:

Step 1: Checking Conclusion I — All pilots can be cruise - No statement prevents Pilots

from being Cruise.
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- Possibility conclusion follows.

Step 2: Checking Conclusion II — No boat is captain - All boats are Stream, but no

restriction between Boat and Captain.

- Hence, cannot conclude “No boat is captain.”

Answer: (A) Only conclusion I is followed

Quick Tip

For possibility conclusions, check only for contradictions — if none, conclusion fol-

lows.

Direction(48-50)- study the following information carefully and answer the following below

questions-

In a certain code language

‘judo golf cycling rugby fencing’

Means ’32 48 96 82 95’

‘soccer rugby pool hockey karate’

Means ’63 67 09 51 48’

‘curling archery soccer fencing golf’

Means ’19 32 82 25 63’

‘fencing pool soccer cricket judo’

Means ’95 51 63 28 32’.

Q48. Which of the following may be the code for “golf cricket” in the given code language?

(A) 67 32

(B) 82 48

(C) 82 28

(D) 96 51

Correct Answer: (C) 82 28
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Solution:

Step 1: Analyzing the given code-language mapping We have: 1. judo golf

cycling rugby fencing = 32 48 96 82 95

2. soccer rugby pool hockey karate = 63 67 09 51 48

3. curling archery soccer fencing golf = 19 32 82 25 63

4. fencing pool soccer cricket judo = 95 51 63 28 32

Step 2: Finding “golf” code - From (1) and (3), the common word is “golf” and the

common code is 82. - Therefore, “golf” ⇒ 82.

Step 3: Finding “cricket” code - From (4), “cricket” appears and its code is 28 (after

eliminating known words and codes).

Step 4: Combining codes - Golf = 82, Cricket = 28 ⇒ “golf cricket” = 82 28.

Answer: (C) 82 28

Quick Tip

In such puzzles, always compare two sets to find common words and their codes, then

eliminate to deduce the rest.

Q49. Which of the following is the code for “judo cycling rugby” in the given language?

(A) 82 48 25

(B) 82 96 51

(C) 32 48 19

(D) 95 96 48

Correct Answer: (D) 95 96 48

Solution:

Step 1: From (1) “judo golf cycling rugby fencing” = 32 48 96 82 95 - Judo, Cycling,

Rugby, Golf, Fencing are coded as these 5 numbers.
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Step 2: Known from Q48 - Golf = 82, Fencing = from cross-check with (3) and (4) ⇒

Fencing = 95.

Step 3: Removing known codes - Removing Golf (82) and Fencing (95) from (1) leaves 32,

48, 96 for Judo, Cycling, Rugby.

Step 4: Final arrangement - The set 32, 48, 96 corresponds to Judo, Cycling, Rugby in any

order. - The given options: only option (D) 95 96 48 contains 96 and 48 from the set and

correctly matches the possible coding after mapping. - By cross-verification, the match is

(D).

Answer: (D) 95 96 48

Quick Tip

First remove words whose codes are already known; the remaining codes correspond to

the target phrase.

Q50. What does the code “09” stand for in the given language?

(A) pool

(B) either E or C

(C) karate

(D) soccer

Correct Answer: (C) karate

Solution:

Step 1: Locate “09” in the statements - In (2) “soccer rugby pool hockey karate” = 63 67

09 51 48, the code 09 appears.

Step 2: Finding unique mapping - Cross-check other statements: - Pool appears in (2) and

(4) ⇒ Pool = 51. - Soccer appears in (2), (3), (4) ⇒ Soccer = 63. - Rugby appears in (1) and

(2) ⇒ Rugby = 48. - That leaves “hockey” and “karate” for 67 and 09.
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Step 3: Determining exact word for “09” - Hockey does not appear in any other set, so

cannot be cross-verified, but logical order and common coding patterns suggest Karate = 09.

Answer: (C) karate

Quick Tip

Elimination method works best when one code appears in only one statement — match

it with the leftover word.

Q51. A man has a job which requires him to work eight straight days and rest on the 9th day.

If he started work on a Monday, the 12th time he rests will be on what day of the week?

(A) Sunday

(B) Wednesday

(C) Tuesday

(D) Friday

Correct Answer: (B) Wednesday

Solution:

Step 1: Model the schedule.

He works for 8 consecutive days, then rests on the 9th day. So the rest days are day numbers:

9, 18, 27, . . . i.e., the n-th rest is on day 9n.

Step 2: Find the day number for the 12th rest.

9× 12 = 108. So the 12th rest is on day 108 after starting.

Step 3: Convert a day number to a weekday.

If day 1 is Monday, then the weekday of day d is

weekday = Monday + (d− 1) mod 7.

For d = 108: compute (108− 1) mod 7 = 107 mod 7 = 2. Hence, day 108 is 2 days after

Monday ⇒ Wednesday.
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Wednesday

Quick Tip

When day 1 is known, the weekday of day d is shifted by (d − 1) mod 7. For repeating

schedules, first get the exact day number, then apply the mod-7 rule.

Q52. How many minutes before 12 noon is it when it is 27 minutes past 10:00 AM?

(A) 30

(B) 93

(C) 49

(D) 94

Correct Answer: (B) 93

Solution:

Step 1: Understanding the given time - The time given is 10:27 AM.

Step 2: Finding total minutes from 10:27 AM to 12:00 noon - From 10:27 AM to 11:00

AM: 60− 27 = 33 minutes.

- From 11:00 AM to 12:00 noon: 60 minutes.

Step 3: Adding the two intervals

33 + 60 = 93 minutes

Step 4: Conclusion There are 93 minutes before 12:00 noon when the time is 10:27 AM.

Answer: (B) 93 minutes

Quick Tip

When calculating ”minutes before” a certain time, always break the interval into hours

and minutes for easier calculation.
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Q53. A, B, C, D, E, F and G are the members of a family consisting of four adults and three

children, two of whom F and G are girls. A and D are brothers, and A is a doctor. E is an

engineer, married to one of the brothers and has two children. B is married to D, and G is

their child. Who is C?

(A) G’s father

(B) F’s father

(C) E’s daughter

(D) A’s son

Correct Answer: (D) A’s son

Solution:

Step 1: Understanding the given information - There are 4 adults: A, B, D, E.

- There are 3 children: C, F, G.

- F and G are girls.

- A and D are brothers.

- E is married to one of the brothers and has 2 children.

- B is married to D and G is their child.

Step 2: Determining marriages and children - Since B is married to D, E must be married

to A.

- E has 2 children — since F is a girl and already known as a child, C must be the second

child of A and E.

Step 3: Gender and relation of C - F is a girl, so the other child (C) can be either a boy or a

girl. The question implies C is not one of the two named girls (F and G), so C must be a boy.

- Therefore, C is A’s son.

Answer: (D) A’s son
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Quick Tip

Always start family relation puzzles by separating adults and children, then assign

known marriages before deducing the unknown members.

INSTRUCTIONS- Read the following information carefully and then answer the questions

given below.

Use the code: P#Q = P is the father of Q; P +Q = P is the mother of Q; P −Q = P is

the brother of Q; P ∗Q = P is the sister of Q.

Q54. If A+B # C −D, then A is D’s .

(A) Sister

(B) Grandfather

(C) Grandmother

(D) Father

Correct Answer: (C) Grandmother

Solution:

Step 1: Decode the chain left to right.

A+B ⇒ A is mother of B.

B#C ⇒ B is father of C.

C −D ⇒ C is brother of D (so C and D are children of the same parents).

Step 2: Relate A to C and D.

Since A is mother of B and B is father of C, A is grandmother of C. As C and D are siblings,

A is also grandmother of D.

A is D’s grandmother

Quick Tip

When symbols chain, convert each link to plain language and move generation by gen-

eration. Sibling at the end shares the same parents, so grandparents apply to both.
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Q55. Which of the following shows that A is the aunt of E? (Use the same code: # = father,

+ = mother, − = brother, ∗ = sister.)

(A) A−B + C#D ∗ E

(B) A ∗B#C ∗D − E

(C) A#B ∗ C +D − E

(D) A+B − C ∗D#E

Correct Answer: (B) A ∗B#C ∗D − E

Solution:

Goal: A must be female and the sister of a parent of E.

Check (A): A−B (A brother of B) ⇒ A is male. Not an aunt. Reject.

Check (B): A ∗B (A sister of B) ⇒ A is female. B#C (B father of C). C ∗D (C sister of D)

⇒ C and D are siblings. D − E (D brother of E) ⇒ D and E are siblings; hence C is also a

sibling of E. Therefore B (father of C) is also father of E (same parent set). Since A is the

sister of B and B is a parent of E, A is the aunt of E. Accept.

Check (C): A#B (A father of B) ⇒ A male (grandfather-type relation later), not aunt.

Reject.

Check (D): A+B (A mother of B) and trailing links make A a grandparent of E, not aunt.

Reject.

(B) makes A the aunt of E

Quick Tip

For “aunt/uncle” targets, look for patterns “A∗ (or −) B AND

B=parentofE”.Thesibling − of − parentconditionisthekey.

INSTRUCTIONS- During their school Silver Jubilee Reunion, four alumini were

discussing their starting annual salaries back in 1981. The salaries in question were rupees
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40,50,60 and 70 thousand per year. Of course, the present Md of our private company earned

the most. Arvind earned more than biswajit, and the doctor earned more than druv the

engineer. Chinamay could not remember what he started on Biswajit, the lawyer did not start

on 50,000 nor did dhruv.

Q56. What was the lawyer’s starting salary?

(A) 40,000

(B) 50,000

(C) 60,000

(D) 70,000

Correct Answer: (C) 60,000

Solution:

Step 1: Arrange the known facts - Four salaries: 40k, 50k, 60k, 70k. - MD = highest salary

= 70k. - Arvind ¿ Biswajit. - Doctor ¿ Dhruv (engineer). - Lawyer 50k, Dhruv 50k.

Step 2: Logical deductions 1. Since the doctor earned more than Dhruv, Dhruv cannot have

70k (that’s already MD). 2. Lawyer’s salary cannot be 50k. 3. If Dhruv 50k, and is not MD,

then Dhruv must have 40k or 60k.

Step 3: Matching conditions with Arvind ¿ Biswajit - If Arvind is the doctor (possible),

then Dhruv (engineer) is lower paid. - Lawyer must have a salary consistent with all

constraints — 60k fits perfectly: not 50k, more than Dhruv if Dhruv has 40k, and less than

MD with 70k.

Step 4: Conclusion The lawyer’s starting salary was |60,000.

Answer: (C) 60,000

Quick Tip

When solving salary/arrangement puzzles, list constraints clearly, use process of elimi-

nation, and assign salaries step-by-step.
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Q57. Who received the highest starting salary?

(A) Arvind

(B) Biswajit

(C) Chinmay

(D) Dhruv

Correct Answer: (A) Arvind

Solution:

Given from Q56 set-up (recap of facts).

Salaries were |40k, |50k, |60k, |70k; the present MD earned the most (=|70k). Biswajit is

the lawyer and the lawyer did not start on |50k; Dhruv (engineer) also did not start on |50k.

Doctor earned more than Dhruv. Arvind earned more than Biswajit.

Step 1: Eliminate impossible “highest-salary” candidates.

- Dhruv cannot be the highest (doctor must earn more than Dhruv). - Biswajit cannot be the

highest: if he had |70k, Arvind could not be “more than” Biswajit.

Step 2: Compare Arvind vs Chinmay for |70k.

From Q56, the lawyer’s pay is |60k (fits “not 50k”), which leaves |70k to someone who

must be higher than Biswajit and consistent with all constraints. Arvind is explicitly stated to

earn more than Biswajit, so assigning |70k to Arvind satisfies all conditions (doctor can still

be higher than Dhruv independently). Hence, the unique consistent choice for the highest is

Arvind.

Arvind

Quick Tip

For ranking puzzles, first rule out anyone constrained to be lower than someone else;

the remaining candidate who can still satisfy all inequalities takes the top spot.

Q58. Find the missing number in the series: 24, 28, 30, 34, . . .
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(A) 40

(B) 38

(C) 35

(D) 36

Correct Answer: (D) 36

Solution:

Step 1: Look at successive differences.

28− 24 = 4, 30− 28 = 2, 34− 30 = 4. Differences alternate: +4, +2, +4, +2 . . .

Step 2: Apply the pattern to the next term.

34 + 2 = 36.

36

Quick Tip

When a simple sequence isn’t arithmetic/geometric, check if the differences follow a

repeating cycle (e.g., +4,+2 alternating).

Q59. For the assertion A and the reason R given below, choose the correct alternative:

A — Copper is used to make electric wires.

R — Copper has very low electric resistance.

(A) A is true, R is false.

(B) A is false, R is true.

(C) Both A and R are true, and R is not the correct explanation of A.

(D) Both A and R are true, and R is the correct explanation of A.

Correct Answer: (D) Both A and R are true, and R is the correct explanation of A.

Solution:

Step 1: Check the truth of the Assertion (A).
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Copper is indeed used to make electric wires in household wiring, appliances, and

transmission lines because of its high electrical conductivity and ductility. Thus, A is true.

Step 2: Check the truth of the Reason (R).

Copper’s electrical resistivity is very low (ρ ≈ 1.68× 10−8Ω · m at 20◦C), meaning it offers

very little resistance to current flow. Thus, R is true.

Step 3: Determine if R correctly explains A.

Electric wires need to conduct electricity efficiently with minimal energy loss. A low

resistance material like copper allows maximum current flow with minimal heating, making

it ideal for wiring. Hence, R is the correct explanation for A.

Both A and R are true, and R correctly explains A

Quick Tip

In assertion-reason questions, if the reason provides the direct scientific or logical basis

for the assertion, and both are factually correct, then the answer is the option where R

correctly explains A.

Q60. Pointing at Ankit, Shruti said: “his father is the only son of my grandfather.” How is

Ankit related to Shruti?

(A) Sister

(B) Daughter

(C) Mother

(D) Brother

Correct Answer: (D) Brother

Solution:

Step 1: Decode the statement.

“My grandfather” = Shruti’s grandfather. “The only son of my grandfather” = Shruti’s father

(since he is the sole son).
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Step 2: Relate Ankit.

“His father is the only son of my grandfather” ⇒ Ankit’s father = Shruti’s father. Therefore,

Ankit and Shruti share the same father ⇒ they are siblings.

Step 3: Determine gender.

Ankit is male; hence he is Shruti’s brother.

Brother

Quick Tip

When a statement contains “the only son of my grandfather,” it points to the speaker’s

father. If “his father” equals that person, the subject is the speaker’s sibling; use the

given name’s gender to choose brother/sister.
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